Broil King,

981563 981162
981163

981163D

Broil King

|||||||||||

981553 981152
981153

981153D

SINCE 1906
@EMM.@' Compamyy
585 KUMPF DRIVE LIMITED
WATERL 0o, OIVTAI?IO, CANADA

50084-E32EU Rev M 10/20



A HARDWARE INCLUDED A

Y-12865 @mﬁmﬁm x121 Y-12310 ([mmmmm X8 1 S21125 ([mw X8
Y-29304 I]ﬂjmm X2 1 $21235 [[ o) X2 . S21233 @. x2
Y-12857 @ X2 1 Y-11551 @:W X1 1 Y-12124 .@ / x1
S$35094 qﬂmmmm x1 1 20005000 () @"") P 1
Y-11793 :] x4

A TOOLS REQUIRED A

Y-31223 7/16"

=@ =0

Robertson #2 Robertson #3







(4) {[jo

3







(\
\\ /)

@ (@

8




A



(1) ,@,

Y i

11










17




@ (s

0

all

19




o EHI0

—— @

22




KEY#
1

182
185
186

ITEM#
56004-801
56004-804

10081-BK630

10571-6
24004-12A
54009-936
52104-974
53139-988

52224-024A
27249-904
10342-E13
52904-144D
52904-144E
52023-244CRO
52023-124CRO
59004-032
59004-033
59004-012
59004-013
S$13473-073
S$13473-079
S$13473-118
10111-15A
22002-268
22001-168
10472-K431
10472-K231
10342-246
10342-245
10342-E12
52209-404
52001-981
52004-991
57054-901
52009-901
21034-991
51274-131A
51274-134A
21106-13
21070-13
21109-901
21303-921
51614-231
21039-301
51334-211
57139-13
51639-908
10892-286
50711-111A
50711-131A
10390-E10D
10390-E10E
53004-271
53000-251
53009-951
10342-T21
Y-12220
Y-12835
$21125
S21124
$211278
Y-12641
Y-29304
$35094
Y-12865
Y-12310
Y-11559
Y-11793
Y-12857
Y-11230
$21235
$21233
10240-20
Y-11551
Y-12124
Y-12222
Y-12223
Y-11231
20005-000
$21242
Y-11544

DESCRIPTION
LID - BLACK

LID - STAINLESS STEEL
NAMEPLATE
HEAT INDICATOR
HANDLE

HANDLE BEZEL
FIREBOX

SHELF BRACKET
COLLECTOR BOX
GREASE SHEILD
ELECTRODE
BURNER - MAIN

CONTROL COVER

CONTROL ASSEMBLY

HOSE - SIDE BURNER

HOSE

CONTROL BEZEL - LARGE
CONTROL BEZEL - SMALL
CONTROL KNOB - LARGE

CONTROL KNOB - SMALL

ELECTRONIC IGNITOR

ELECTRODE
FLAV-R-WAVE ®
GRID-CAST IRON

GRID - WARMING RACK
GREASE TRAY

GREASE PAN

GREASE TRAY - RAIL
DOOR - BLACK

DOOR - STAINLESS STEEL
DOOR HANDLE

HANDLE BEZEL
CABINET - SIDE PANEL
CABINET - REAR PANEL
CABINET - LOWER BASE
TANK BRACKET
MAGNET BRACKET
CONNECTION BRAKET
CASTER BRACKET
CASTER

SIDE SHELF - RIGHT
SIDE SHELF - SIDE BURNER
SIDE BURNER

SIDE BURNER - BODY
SIDE BURNER - COVER
SIDE BURNER GRID
SIDE BURNER ELECTRODE
GROMMET

SCREW - #6 X 1/4
SCREW - #8 X 3/8
SCREW - #8 X 1/2
SCREW - #8-32 X 1/2
SCREW - SHOULDER #8 X 1/2
SCREW - #10-24 X 3/8
SCREW - #10-24 X 5/8
SCREW - 1/4-20 X 1/2
SCREW - 1/4-20 X 3/4
SCREW - 1/4-20 X 1
NUT - 1/4-20

WASHER

RETAINER CLIP

HINGE PIN

CLIP

DOOR HINGE PIN - TOP
DOOR SCREW

DOOR HINGE COVER
MAGNET

MAGNET - SNAP IN
BUMPER

MATCH LIGHT CHAIN
CLIP

BURNER SCREW

981152

“ W e W= e e WN WD AN 2 o o

Ce N ABRDA A A A AN @ 2 A WWRN S e

WW=a B a2 aappN o N

981153 981153D 981553

1 1 .
. . 1
1 1 1
1 1 1
1 1 1
2 2 2
1 1 1
4 4 4
1 1 1
3 3 3
2 2 2
3 3 3
1 1 1
1 1 1
1 1 1
3 3 3
3 3 3

e N DA DBRD A A A AONN= ¢ a2 aaaaWWwWN = o
e NADA A L ANN_ ¢ 24D WWRN 2 e
e NADDA D ANN 2 6 A WWN o e

8 8 8
14 14 14
3 3 3
2 2 2
1 1 1
12 12 12
16 16 16
10 10 10
4 4 4
2 2 2
2 2 2
2 2 2
1 1 1
1 1 1
1 1 1
1 1 1
1 1 1
4 4 4
1 1 1
3 3 3
3 3 3

981162

e 2 e 2 e WN W BN AN - 2 a2 o

-

ON = = 3 23 e 3 3 AN BAANA A ANNN - ¢ 4 3 33 A WWN & W W= e

N
N

NN B

WW=a B a2 aapNpNN=a N

981163 981163D 981563

1 1 .
. . 1
1 1 1
1 1 1
1 1 1
2 2 2
1 1 1
4 4 4
1 1 1
3 3 3
2 2 2
3 3 3
1 1 1
1 1 1
1 1 1
1 1 1
3 3 3
1 1 1
3 3 3
1 1 1
1 1 1
2 2 2
3 3 3
3 3 3
1 1 1
1 1 1
1 1 1
1 1 1
1 1 .
. . 1
1 1 1
2 2 2
2 2 2
1 1 1
1 1 1
1 1 1
1 1 1
4 4 4
4 4 4
4 4 4
1 1 1
1 1 1
1 1 1
1 1 1
1 1 1
1 1 1
1 1 1
1 1 1
2 2 2
8 8 8
14 14 14
4 4 4
2 2 2
2 2 2
1 1 1
12 12 12
16 16 16
10 10 10
4 4 4
2 2 2
1 1 1
2 2 2
2 2 2
1 1 1
1 1 1
1 1 1
1 1 1
1 1 1
4 4 4
1 1 1
3 3 3
3 3 3









	STEP 1-2 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Detail View C (1 : 5)
	Drawing View14
	Detail View D (1 : 3)


	STEP 3-4 (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View4
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Detail View G (1 : 3)


	STEP 5-6 (50084-E32EU).PDF
	Sheet1
	Drawing View7
	Detail View F (1 : 2.75)
	Drawing View9
	Drawing View10
	Drawing View11
	Detail View M (1 : 2)
	Detail View N (1 : 2)


	STEP 7-8 (50084-E32EU).PDF
	Sheet1
	Drawing View2
	Drawing View14
	Detail View P (1 : 5)
	Detail View R (1 : 3)
	Drawing View19
	Detail View B (1 : 2)
	Drawing View21


	STEP 9-10 (50084-E32EU).PDF
	Sheet1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Detail View D (1 : 4)


	STEP 11-12 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8
	Drawing View9
	Detail View E (1 : 7)


	STEP 13-14 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View14
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View21
	Drawing View22


	STEP 15-16 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Detail View A (1 : 3)
	Drawing View3
	Detail View B (1 : 3)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Detail View C (1 : 1.5)
	Drawing View12


	STEP 17-18 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


	STEP 19-20 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View2
	Detail View A (1 : 3)
	Detail View B (1 : 2)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10
	Drawing View13
	Detail View C (1 : 2)
	Detail View D (1 : 2)


	STEP 21-22 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 1)
	Drawing View5
	Drawing View7
	Drawing View8


	EXP VIEW 1 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View12
	Drawing View13


	EXP VIEW 2 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	STEP 1-2 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Detail View C (1 : 5)
	Drawing View14
	Detail View D (1 : 3)
	Drawing View16


	HARDWARE BOM (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44


	STEP 9-10 (50084-E32EU).PDF
	Sheet1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Detail View D (1 : 4)
	Drawing View10
	Drawing View11


	STEP 15-16 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Detail View A (1 : 3)
	Drawing View3
	Detail View B (1 : 3)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Detail View C (1 : 1.5)
	Drawing View12


	EXP VIEW 1 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View12
	Drawing View13


	STEP 9-10 (50084-E32EU).PDF
	Sheet1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Detail View D (1 : 4)
	Drawing View10
	Drawing View11


	STEP 9-10 (50084-E32EU).PDF
	Sheet1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Detail View D (1 : 4)
	Drawing View10
	Drawing View11


	STEP 1-2 (50084-E42EU).PDF
	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View13


	STEP 1-2 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View17
	Drawing View18
	Detail View A (1 : 5)
	Detail View B (1 : 5)


	STEP 3-4 (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View4
	Detail View H (1 : 3)
	Drawing View10
	Detail View F (1 : 2.75)
	Drawing View12
	Drawing View13


	STEP 5-6 (50084-E32EU).PDF
	Sheet1
	Drawing View11
	Detail View M (1 : 2)
	Detail View N (1 : 2)
	Drawing View14
	Detail View P (1 : 5)
	Detail View R (1 : 3)
	Drawing View17


	STEP 7-8 (50084-E32EU).PDF
	Sheet1
	Drawing View19
	Detail View B (1 : 2)
	Drawing View21
	Drawing View22
	Detail View C (1 : 4)
	Detail View D (1 : 4)
	Drawing View25
	Drawing View26


	STEP 9-10 (50084-E32EU).PDF
	Sheet1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View E (1 : 2)
	Detail View F (1 : 2)
	Drawing View14


	HARDWARE BOM (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44


	STEP 7-8 (50084-E32EU).PDF
	Sheet1
	Drawing View19
	Detail View B (1 : 2)
	Drawing View21
	Drawing View22
	Detail View C (1 : 4)
	Detail View D (1 : 4)
	Drawing View25
	Drawing View26


	HARDWARE BOM (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44


	STEP 15-16 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Detail View A (1 : 3)
	Drawing View3
	Detail View B (1 : 3)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Detail View C (1 : 1.5)
	Drawing View12


	HARDWARE BOM (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44


	HARDWARE BOM (50084-E32EU).PDF
	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44


	EXP VIEW 1 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View12
	Drawing View13


	50084-E32EU (Rev K) PARTS LIST.pdf
	Sheet1

	EXP VIEW 1 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View12
	Drawing View13


	EXP VIEW 2 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	STEP 21-22 (50084-E32EU).PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 1)
	Drawing View5
	Drawing View7
	Drawing View8


	50084-E32EU (Rev M) PARTS LIST.pdf
	Sheet1

	50084-E32EU (Rev M) PARTS LIST.pdf
	Sheet1




